Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

| To Company Name/Scheme | ESSENTIAL METALS LTD | |
|------------------------------------|---|--|
| ACN/ARSN/ ABN | 441 034 239 81 | |
| 1. Details of substantial holder (| 1) | |
| Name | JPMorgan Chase & Co. and its affiliates | |
| ACN/ARSN (if applicable) | NA | |
| - | | |
| The holder became a substantial | holder on 23/01/2023 | |

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

| Class of securities (4) | Number of securities | Person's votes (5) | Voting power (6) |
|-------------------------|----------------------|--------------------|------------------|
| Ordinary | 14,486,303 | 14,486,303 | 5.42% |
| | | | |

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

| Holder of relevant interest | Nature of relevant interest (7) | Class and number of securities |
|--|--|--------------------------------|
| JPMORGAN CHASE BANK, N.A. | Purchase and sales of securities in its capacity as Principal/Proprietary | 1 (Ordinary) |
| J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Purchase and sales of securities in its capacity as Principal/Proprietary | 14,486,302 (Ordinary) |

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

| Holder of relevant interest | Registered holder of securities | Person entitled to be registered as holder (8) | Class and number of securities |
|---|---------------------------------|--|--------------------------------|
| JPMORGAN CHASE BANK, N.A. | JPMORGAN CHASE BANK, N.A. | JPMORGAN CHASE BANK, N.A. | 1 (Ordinary) |
| J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Ecapital Nominees Pty Ltd | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | 14,486,302 (Ordinary) |

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

| Holder of relevant interest | Date of acquisition | Consideration (9) | | Consideration (9) | | Consideration (9) | | Consideration (9) | | Consideration (9) | | Class and number of securities |
|-----------------------------|---------------------|-------------------|----------|-------------------|--|-------------------|--|-------------------|--|-------------------|--|--------------------------------|
| See Appendix | | Cash | Non-cash | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

| Name and ACN/ARSN (if applicable) | Nature of association |
|--|------------------------------------|
| J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Subsidiary of JPMorgan Chase & Co. |
| JPMORGAN CHASE BANK, N.A. | Subsidiary of JPMorgan Chase & Co. |

7. Addresses

The addresses of persons named in this form are as follows:

| Name | Address |
|---|--|
| JPMorgan Chase & Co. | 383 Madison Avenue, New York, New York, NY, 10179, United States |
| J.P. MORGAN SECURITIES AUSTRALIA LIMITED | LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NSW 2000, Australia |
| JPMORGAN CHASE BANK, N.A. | 1111 Polaris Parkway, Columbus, Delaware, OH, 43240, United States |

| Signature | | 0 " 0" |
|------------|--------------|-----------------------------|
| print name | Vasim Pathan | Capacity Compliance Officer |
| sign here | Pollo | date 25/01/2023 |

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement: and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

| TRADES FOR RELEVANT PERIOD | | | | | | Appendix |
|--|--|------------------|---------------------|-----------------------|--------------|------------------------------|
| Transaction Date Balance at start of relevant period | Entity | Product Type | Type of Transaction | Quantity 1,307,347 | Price (AUD) | Consideration |
| 26-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy Sell | 18,208 | 0.43 0.44 | |
| 26-Sep-22 26-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy | (57,346) | 0.43 | \$ 1,433.95 |
| 26-Sep-22 27-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (701) 10,826 | 0.43 0.44 | \$ 301.35 \$ 4,715.04 |
| 27-Sep-22 27-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (28,468) (10,592) | 0.45 | \$ 12,727.53 \$ 4,780.88 |
| 27-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (6,852) | 0.44 | \$ 3,014.88 |
| 28-Sep-22 28-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 5,514 (10,444) | 0.44 0.45 | \$ 4,647.58 |
| 29-Sep-22 29-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 14,000 (3,320) | | \$ 6,440.00 \$ 1,527.20 |
| 29-Sep-22 29-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (2,121) (3,516) | | \$ 965.06 |
| 30-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 21,000 | 0.44 | \$ 9,240.00 |
| 30-Sep-22 30-Sep-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (37,194) | | \$ 16,730.64 \$ 1,502.60 |
| 4-Oct-22 4-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 42,402 (1,778) | | \$ 19,338.41 |
| 5-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 25,380 | 0.47 | \$ 11,888.60 |
| 5-Oct-22 5-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (32,000) | | \$ 15,050.02 \$ 147.78 |
| 6-Oct-22 6-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (35,782) (769) | 0.48 0.49 | \$ 17,323.18 \$ 372.97 |
| 7-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 757 | 0.52 | \$ 389.86 |
| 10-Oct-22 11-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 17,700 909 | 0.53 | \$ 8,877.90 \$ 477.23 |
| 11-Oct-22 12-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (909) 14,000 | 0.53 0.51 | |
| 12-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (1,976) | 0.50 | \$ 988.00 |
| 12-Oct-22 13-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 3,465 17,630 | | \$ 8,815.00 |
| 13-Oct-22 13-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (14,000) (1,212) | 0.51 0.51 | |
| 13-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 11,832 | 0.51 | \$ 5,975.16 |
| 13-Oct-22 14-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (3,708) 7,543 | 0.52 | \$ 1,928.16 \$ 3,922.36 |
| 14-Oct-22 17-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (25,173) 74,882 | | \$ 12,727.34 |
| 17-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (26,066) | 0.48 | \$ 12,511.68 |
| 17-Oct-22 17-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (1,507) 917 | 0.48 | \$ 723.36 \$ 440.16 |
| 18-Oct-22 18-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 43,959 (13,037) | 0.52 0.51 | \$ 22,669.17 |
| 18-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,455) | 0.51 | \$ 1,239.78 |
| 18-Oct-22 19-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 17,542 33,349 | | \$ 8,851.08 \$ 17,832.98 |
| 19-Oct-22 19-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (31,231) 10,146 | 0.53 0.54 | |
| 20-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (36,185) | 0.52 | \$ 18,668.93 |
| 20-Oct-22 20-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 2,959 (2,802) | 0.52 | \$ 1,523.89 \$ 1,457.04 |
| 21-Oct-22 21-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 5,580 11,038 | 0.52 0.51 | |
| 24-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 142,632 | 0.57 | \$ 81,374.98 |
| 24-Oct-22 24-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (28,448) 22,196 | | \$ 15,615.79 \$ 12,458.81 |
| 25-Oct-22 25-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 39,904 (99,381) | | \$ 23,458.16 |
| 25-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 3,306 | 0.60 | \$ 1,967.07 |
| 25-Oct-22 25-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 1,707 (1,119) | | \$ 1,015.67 \$ 677.00 |
| 25-Oct-22 26-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (1,196) 106,708 | | \$ 723.58 |
| 26-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (9,200) | 0.60 | \$ 5,474.00 |
| 26-Oct-22 27-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 1,936 11,200 | | \$ 1,142.24 \$ 5,376.00 |
| 27-Oct-22 27-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (214,666) 2,239 | | \$ 103,404.18 |
| 28-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (51,668) | 0.47 | \$ 24,152.52 |
| 31-Oct-22 31-Oct-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 30,848 (12,892) | | \$ 14,318.99 \$ 5,965.55 |
| 1-Nov-22 1-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (17,956) (27,846) | 0.46 0.46 | \$ 8,169.98 |
| 2-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (19,165) | 0.48 | \$ 9,130.74 |
| 3-Nov-22 3-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 13,740 4,405 | | \$ 6,251.70 \$ 2,026.30 |
| 3-Nov-22 4-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 9,527 (4,266) | 0.46 0.46 | \$ 4,342.98 \$ 1,962.36 |
| 4-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 1,162 | 0.47 | \$ 540.33 |
| 4-Nov-22 7-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (3,944) (9,474) | 0.48 | \$ 1,833.96 \$ 4,500.15 |
| 7-Nov-22 9-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (5,608) 24,611 | 0.48 0.47 | \$ 2,663.80 |
| 9-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 4,436 | 0.47 | \$ 2,084.92 |
| 10-Nov-22 10-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 8,608 (24,611) | | \$ 11,321.06 |
| 11-Nov-22 11-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 3,355 (6,995) | 0.48 0.48 | \$ 1,593.63 |
| 14-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 62,719 | 0.48 | \$ 30,090.13 |
| 14-Nov-22 14-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (40,218) (9,421) | 0.48 0.47 | \$ 4,427.87 |
| 15-Nov-22 15-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Sell | 16,000 (31,109) | 0.47 0.48 | \$ 7,440.00 |
| 16-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 14,000 | 0.47 | \$ 6,510.00 |
| 16-Nov-22 16-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (16,000) 5,154 | 0.47 | \$ 7,520.00 \$ 2,409.50 |
| 16-Nov-22 17-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (10,880) (14,000) | 0.47 0.46 | \$ 5,080.94 |
| 17-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 4,471 | 0.47 | \$ 2,079.02 |
| 18-Nov-22 21-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (5,547) (11,344) | 0.44 0.42 | \$ 4,764.48 |
| 22-Nov-22 24-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (3,942) 22,000 | 0.43 0.43 | |
| 24-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell Sell | (22,000) | 0.43 | \$ 9,350.00 |
| 28-Nov-22 29-Nov-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell | (1,478) (4,371) | 0.41 0.40 | \$ 1,748.40 |
| 30-Nov-22 1-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Buy Buy | 13,303 36,931 | 0.41 0.43 | \$ 5,514.84 |
| 1-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (47,691) | 0.42 | \$ 20,090.22 |
| 1-Dec-22 2-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Buy | (10,532) 43,930 | 0.43 0.43 | \$ 18,670.25 |
| 2-Dec-22 5-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (10,428) (46,473) | 0.43 0.42 | \$ 4,431.90 |
| 6-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 21,000 | 0.41 | \$ 8,610.00 |
| 6-Dec-22 6-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (21,000) (10,162) | 0.42 0.41 | \$ 4,166.42 |
| 7-Dec-22 8-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (10,338) (7,254) | 0.41 0.39 | \$ 4,186.89 |
| 15-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (1,255) | 0.36 | \$ 451.80 |
| 16-Dec-22 19-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity Equity | Sell Sell | (6,335) (3,212) | 0.36 0.35 | \$ 1,124.20 |
| 20-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 73,000 | 0.31 | |

| RADES FOR RELEVANT PERIOD | | | | | | Appendix |
|---------------------------------|--|--------|------|------------|---------|-------------|
| 20-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (68,646) | 0.31 \$ | 21,174.8 |
| 21-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 26,800 | 0.32 \$ | 8,450.0 |
| 21-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (306) | 0.32 \$ | 96.3 |
| 21-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (3,888) | 0.33 \$ | 1,283.0 |
| 22-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (30,848) | 0.33 \$ | 10,099.8 |
| 28-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (1,046) | 0.31 \$ | 324.2 |
| 29-Dec-22 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (1,468) | 0.30 \$ | 440.4 |
| 3-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,765) | 0.32 \$ | 870.9 |
| 4-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (1,390) | 0.32 \$ | 444.8 |
| 4-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,798) | 0.32 \$ | 895.3 |
| 5-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2.875) | 0.33 \$ | 934.3 |
| 6-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 23,796 | 0.34 \$ | 7,971.6 |
| 6-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,908) | 0.35 \$ | 1,003.2 |
| 9-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (23,796) | 0.48 \$ | 11,422,0 |
| 9-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,905) | 0.48 \$ | 1,387,14 |
| 10-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (3,055) | 0.48 \$ | 1,458.7 |
| 10-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 600,000 | 0.48 \$ | 286,929,6 |
| 11-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,946) | 0.49 \$ | 1,428.8 |
| 12-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,913) | 0.49 \$ | 1,427.3 |
| 12-lan-23 | 1.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 3,364,185 | 0.49 \$ | 1,649,439.7 |
| 13-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2.807) | 0.49 \$ | 1,382,4 |
| 13-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 15,763 | 0.49 \$ | 7,728,5 |
| 16-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (3.601) | 0.49 \$ | 1,773.4 |
| 17-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 55,527 | 0.50 \$ | 27,833.9 |
| 17-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2,689) | 0.51 \$ | 1,378.1 |
| 17-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 3,390,333 | 0.50 \$ | 1,679,221.7 |
| 18-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (6,467) | 0.51 \$ | 3,298,1 |
| 18-lan-23 | 1.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 8,060 | 0.51 \$ | 4,072.7 |
| 19-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 7.027 | 0.51 \$ | 3,548.6 |
| 19-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (4,599) | 0.51 \$ | 2,333,9 |
| 19-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 2,162,359 | 0.51 \$ | 1,092,646,4 |
| 20-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (511) | 0.51 \$ | 259.3 |
| 20-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 7,150 | 0.51 \$ | 3,610.7 |
| 20-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (11,508) | 0.51 \$ | 5,811.5 |
| 20-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buv | 2,154,806 | 0.51 \$ | 1,088,829,9 |
| 23-lan-23 | 1.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (2.121) | 0.51 \$ | 1,071.1 |
| 23-lan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 14,246 | 0.51 \$ | 7,194.2 |
| 23-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Sell | (27,352) | 0.51 \$ | 13,812.7 |
| 23-Jan-23 | J.P. MORGAN SECURITIES AUSTRALIA LIMITED | Equity | Buy | 1.682.835 | 0.51 \$ | 850,341,5 |
| lance at end of relevant period | | | 507 | 14.486.303 | 0.51 | 050,511.5 |